
Continued on Page 2

52112
55112 

07-12 CHEVY
SILVERADO 1500/HD

07-12 CHEVY SILVERADO 1500/HD 
Upper Class Series Bumper Grille 2 Pc. 

52112
55112 

07-12 CHEVY
SILVERADO 1500/HD

TOOLS REQUIRED:
Drill / 1/8” Bit
Die Grinder / Jig Saw

PARTS LIST:
(2) 1/4” Flat Washers
(2) 1/4” Lock Washers
(2) 1/4” X 1” Bolts
(2) 1/4” x 20 Nuts
(4) #10 X 3/4” Phillips Screws
(4) #10 Flat Nuts
(2) Grilles

Rev. 6/11/10

 55112 55112
2007 CHEVY 2007 CHEVY 

 2500-3500 HD 2500-3500 HD 
   

UPPER CLASS SERIES BUMPER GRILLS 

Recommended Tools:  Parts List / Hardware:
Phillips Screwdriver 2 Upper Class Inserts 
Drill & 1/8” Drill Bit 6 #10 x ¾ Phillips Screws 
Die Grinder or Jig-Saw (Optional) 2 #10 Flat Nuts  
 4 ¼” Nuts  
 4 ¼” Lock Washers 
 4 ¼”x1” Bolts 

Read and understand instructions before attempting installation 

Step 1
Remove the license plate assembly from the vehicle. Test fit the grille 
into the bumper opening. The new grille has four mounting tabs 
welded to the back of the grille. Four screws will hold the grille to the 
air dam.   

Center the grille; mark the mounting holes to the air dam. Use a 1/8” 
drill bit to drill a pilot hole at each mark. (1) Re-center the grille. Use 
the #10 screws and flat nuts to secure the lower grille tabs.  To 
secure the top tabs, only use a#10 screw through pilot hole.    

Step 2
Remove your factory grill shell. Locate the splash shield 
between the bumper and radiator; remove 4 push clips.  
Install mesh insert from under vehicle.  From bumper top, 
locate the two outside holes where the factory push clips 
mounted.  Install the two ¼”x1 bolts.  Make sure that the 
splash shield is under brackets. (2)  From bottom side of 
vehicle, place a lock washer and nut to each bolt.  Tighten 
down. Replace factory grille.  

1 

2 

PLEASE READ AND UNDERSTAND ALL INSTRUCTIONS BEFORE INSTALLATION. Auto makers offer varied models 
to each vehicle and occasionally manufacture more than one body style of the same model. To assure your part is correct; our 
tech department can be contacted at tech@trexbillet.com to verify fitment or assist with tech questions. All other inquires can 
be directed to info@trexbillet.com. In the event you do not have internet access please call 1-800-287-5900.



Step 3
The factory license plate mount can be modified to mount on the bumper billet. A portion of the license plate mount 
must be trimmed to re-install. As shown; apply a strip of masking tape to draw a line on each end (3). Use a die 
grinder to remove the excess material from the license plate mount (4). The last picture shows a profile view of the 
license mount after your cuts (5). Center the upper mounting holes on the plate mount to the factory holes in the air 
dam. Install the 2” machine screws and fender washers into the upper mounting holes; secure the screws from behind 
the air dam using the remaining #10 washers and nuts. 

Thank you for purchasing a T-Rex Billet Grille. 1/25/07

3 4 5 

07-12 CHEVY SILVERADO 1500/HD 
Upper Class Series Bumper Grille 2 Pc. 

52112
55112 

07-12 CHEVY
SILVERADO 1500/HD

Page 2

52112
55112 

07-12 CHEVY
SILVERADO 1500/HD

Rev. 6/11/10


